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Coleridge:

The Rhyme of The Ancient Mariner

The key to his poem is his definition of the supernatural.

“The willing suspension of disbelief for the moment”. (2nd page of handout 3)

When Wordsworth andd Coleridge were working on the new experimental poetry, they agreed that Coleridge was involved in the supernatural. This is crucial to C.-s poetry.

There are lots of supernatural incidents and happening in the machinery of the poem. Signs, spirits, which guide the Ancient Mariner’s ship back to England.

There is the skeleton ship, which appears on the sea. It represents death.

In a way it’s the supernatural that gives the enigmatic quality of the poem.

Why is the ancient mariner’s crime – the killing of the albatross – is so horrifying?

Than the ship of the ancient mariner’s ship traveled to the South Pool and the ship was stocked in ice. They couldn’t move. Than the albatross appeared and the sailors fed it. It seemed to be a good spirit, cos soon the ice disappeared, and they could go on. The albatross was following.

Than without any acceptable reason the mariner kills the albatross. It destroyed the harmony between man and nature. It was a senseless cruelty!

It was an unmotivated act of cruelty.

It is not due to the supernatural spirits, or voices, or the skeleton ship, but rather the mystery of the human psyche, and the threatening awareness of evil in our psyche.

this is going to be a very crucial scene in the case of the second generation as well. E.g. Byron’s hero.

The poem itself consists of 7 parts. Later Coleridge added marginal notes to the tex of the poem. These marginal notes give factual evidence what’s happening. They interact the primary text of the poem.

Part 1 ends with mariner killing the albatross. The narrative framework is also introduced.

The narrator is the ancient mariner himself, and to whom he tells the story, is a wedding guest.

The ancient stops that man, by long grey hair and glittering eye. The wedding guest is suddenly stopped by that crazy-look person – the ancient mariner.

Throughout the story the wedding guest’s response is given response. The wedding guest represents innocence, while the ancient mariner undergoes his experience, and crime, and punishment. The wedding guest is ignorant to evil, while the ancient mariner got that experience.

By telling his story of evil, the wedding guest becomes a more sad but wiser man.

The wedding guest left the scene letaglózva, and with the sense of being loss of sg. He experiences loss.

We can again find a connecting line with Bake’s concept of innocence and experience. (Experience = loss of innocence through knowledge / through, and than arrive to higher level of innocence).

In the Tyger which is contrasted to the Lamb we could already meet the fascination of evil!

(“Is it the same creator: God, who created the Tyger; evil, and the Lamb; the innocence?)

Part 2 & 3 describes the consequences of that terrible and unmotivated act of cruelty.

The ship was able to leave the South Pool, and was on the way towards home, but the ship is stock again. It’s the heat and thirst which express the agony of the ancient mariner. The mariner was blamed by his ship mates. As a punishment, they hanged the “albatross as a cross” above his neck. Not only the burden of the death bird, but also his guilt appear physically.

Than – as the marginal note says – the albatross begins its ravages. The revenge is that they are stock.

“water water everywhere, but not a drop to drink”

The ancient mariner has to cut his arm to stuck his blood, in order to make his lips wet!

This physical agony is together with spiritual agony as well. When the situation is terribly hopeless, a ship is approaching. But it’s special, cos it’s moving without wind. (Since there was no wind!) It was a supernatural ship. The horror was to discover that it was a skeleton ship, on which there was a ghost woman. Her death mates were travelling. There is life and death.

Death wings the crew, and life in death wings the ancient mariner. The mariner has to experience the death of his own ship mates, but he survives, stays in live cos his soul was won by death!

Death and life are contrasted, cos life in death is more horrible then actual death, cos the ancient mariner can see that the ship crew is flying away to heaven, but he has to live on!

Spiritual agony = “alone, alone and all alone” | “never a saint to pity on my soul in agony” – unbearable loneliness.

The mariner tries to pray, but he can’t. an unbearable suffering is described.

The moment of redemption when the eagle comes, and there’s a chance of recover.

He watches the water snakes and is amused by their beauty. He feels love for those creatures, and than he’s able to pray. Than the heavy bird is loosened from his neck.

Than rain begins to fall, and with the assistance of the sprites of ship’s he’s able to operate the ship, and the mariner is able to arrive to his homeland.

But his job is: that he has to go around the world and teach the lesson. He has to retell the story again and again that love and respect to all creatures God has created in nature is a sort of___. Anyone who hurts that kind of ___ will be punished and revenged.

The very end when the ancient mariner says good bye to the wedding guest, there’s a moral teaching that he has to preach.

But the real result, the is that guest becomes a sadder and wiser man.

The spiritual agony – the loss of love, faith – and than the return of faith, is not totally in proportion what he did.

But the wedding guest has learned a more serious lesson.

The lesson that the ancient mariner teaches is a total acceptance God’s universe. But the general love of beast, animal and man, is more then that, cos the moment of redemption begins when the mariner is able to feel love towards those snakes. The acceptance of God is sg. passive.

The poem describes the mystery of human psyche. The source of evil is in the soul of human psyche.

The poem is about a sea voyage from home to the line, and than to the South Pool and than back to home. But it seems to be a sort of return.

It is not such a simple return.

The actual sea voyage is a spiritual voyage not a full return, but return to an other quality of life after experience of death.

“Halál megtapasztalása”.

The ship miraculously sank and the mariner was rescued by a bird.

Ancient Mariner:  as willing suspension of disbelief, and awareness of the mystery of evil, and interpretation human action.

The “willing suspension of disbelief” is a useful key term to read other texts by Coleridge

----------------

Kubla Khan – or  A Vision in a Dream – A fragment

There’s an interesting prophecy in the poem, in which Coleridge himself tells how the poem was composed.

He was reading a travel book about some oriental travel. He was reading about Kubla Khan – an oriental tyrant – then suddenly he fall asleep. There were certain images as themes and with a parallel production of the correspondent expressions.

Than immediately he woke up and was eager to put down those images, when an unwanted visitor interrupted him, so he couldn’t finish. By the time the visitor’s gone, his vision was gone.

In a way, it’s true that it’s a fragment.

But according to Coleridge’s definition of poetry, we can read it not as a fragment, but as full vision of imagination.

We can read it as a poem about poetry.

We have to read him, according to his concept.

Coleridge wasn’t a poet, but an important literary theorist and philosopher.

His great work Magnum Opus a Biography Literaria – a work which he didn’t finished, although it consists of 20 books at least – has chapters, in which he is elaborating his theory of poetry, imagination and poet.

Kubla Khan is a poetic representation of Coleridge’s concept of imagination.

“The poet described in ideal perfection…” (See handout)

Important words:

The poet is able to refuse a sense of unity. The unity is achieved a synthetic and magical power, which is IMAGINATION. The unity is achieved:

There’s a balance and reconciliation of opposites. This is achieved by a synthesis, a certain fusion of quality.

It’s not simply a mechanical “putting together things” (like lego  ), but it’s synthetic, it’s an organic unity. (Wordsworth said: “organic sensibility”).

Coleridge calls as synthetic and magical power of imagination, and he coins a term for that, than imagination is an “esemplastic” power.

(See handout).

The organic unity creats something new.

That concept of imagination  is given a poetic vision in Coleridge’s Kubla Khan.

We can distinguish 2 parts in the poem.

1st part: 1 – 36 lines.

2nd part:: (the rest)

Kubla Khan

1st part: oriental landscape. It describes what he was reading about before he fall asleep.

An oriental tyrant (zsarnok) – Kubla Khan – decided to build a palace. He tried to impose his will and domination on that beautiful landscape. This poem is very much about man and nature. Kubla Khan decided to build a “pleasure dome”. The dome is considered as a man’s creation.the building might have meant that Kubla Khan imposed his will on nature.

There’s a landscape, with a river: “Elf”. (There’re some oriental names in the poem).

Adjectivess, describing nature:

· sacred river

About Kubla Khan:

· Towers, walls, etc.  create limites, a man size part of nature.

· His power is a desire for possession 

Words describing nature:

· “savage”, “holy”, “measureless to man”

· “Fertile”, “green”, non-human size.

It is a description of the river Elf, as it’s born free, from the rocks.

It describes the power of the sacred river, which is an eternal, as opposed to Kubla Khan’s power, which is temporary, limited (not eternal).

Contrast of eternal power of life appears, cos the river is the river of life, “blossoming trees, “green forests”, fertility, etc. It follows into the timeless ocean.

Line 31: the “shadow of dome of pleasure”  the pleasure dome is created, reflected in the river.

It’s a temporary creation, which is reflected in the eternity of the sacred river. But it’s not the palace itself what is reflected, but it’s shadow, which is a miracle:

“Sunny pleasure dome with caves of ice”

So, the mirror image of that dome, which is with that prophecy of war could be considered, soon be demolished, but it’s shadow is somehow eternal.

The pleasure dome, as man’s art is part of Kubla Khan’s power.

“The dome in air” represents the magical power of imagination, where the synthesis of sun and ice happens. The opposites can have unity.

The part 1: vision of the very crucial themes in romanticism, the relationship of man, nature and art.

-------------

Part 2:

It’s different. While in part 1 we had a 3rd person sing. description, we have a 1st person perspective in the part 2. “Could I”, I would build”, I saw”, etc.

In part 2:  we have the description of the vision of the artist. “ ___ (a name of a young woman) In the vision once I saw”. The woman is a muse-like figure = inspiration!

The artist would build a dome in the air. He has the magical power of imagination. He’s like a magician (Mágus), has “flashing eye”,  and “floating hair” like a prophet. (Like in Blake)

“Paradise”  aritist is elevated to the heights Heaven.

According to Coleridge’s def.: that poem is not a fragment, but a complete vision of what he thinks about human nature and art, artist and poet.

The line: “Sunny pleasure dome, with caves of ice” is a wonderful example of oxymoron.

(Oxymoron = ellentétes értelmű szavak kapcsolása).

“The pleasure dome” represents: art, the eternal act of creation, holyness, sacred quality of artistic creation.

Kubla Khan not as a life story of Kubla Khan, but as a vision of imagination is not a fragment. 

--------------

Lord Byron, Percy Bysshe Shelley, John Keats (handout 4)

They belong to the 2nd generation of romantic poets. It’s not only a generation gap between Wodsworth, Coleridge and the Romantic “trias”, but it’s a totally new world in which B, S, and K. began to write.

Wordsworth’s and Coleridge’s  was predetermined by the French revolution (it’s enthusiasm, etc).

There was a general radicalism in England as well. By the 2nd decade of the 19th century, the wars of Napoleon were over, there was the Vienna Peace trinity. (Bécsi béke, mely a Napóleoni háborúkat lezárta). This created the alliance of the most conservative monarchies of Europe (e.g. Német Római, Habsburg, Cári Oroszország).

By the time Byron, Shelley and Keats began to write, Wordsworth was already middle aged. W. began to write his Immortality Ode, He felt that his magic power of imagination is failing.

W. accepted the new status quo in politics, and returns to the Anglican Church, which was another conservative move. He became a poet laureate (koszorús / udvari költő).

He got far from the radicalism of his youth!

Coleridge: was more and more involved in metaphysics. He finished his career as a poet at the turn of the century. He was working on his Magnum Opus (he was unable to finish it, although it consists of 20 books).

He became much more like a celebrity, explaining his metaphysics of good society. (It was a social event to go Coleridge, usually on Wednesdays  )

Byron and Shelley entering the stag, started to attack the “great olds”. Byron had a satiric poem, in which he gives certain nicknames to the exponents of the 1st generation, in the prophecy of Don Juan. e.g. he calls Wordsworth as “Words-Words”, or “lakers” = Wordsworthworth-ék! (By that time of course they didn’t live in the nature  )

Coleridge explained philosophy to the nation, but wished “he explained his explanations”!

He was so much involved in metaphysics, hogy a jó nép egy kukkot sem értett belőle! 

Wordsworth wrote Excursion – a very long, dull metaphysical poem (of 500 pages).

Byron and Shelley defined themselves against the 1st generation. They rejected the 1st gen. in order to find their voices. It was important for the 2nd gen. to undermine the 1st.

There’re parallels and contrasts between Byron’s and Shelley’s life.

Both of them were aristocrats.

Byron was a real, true born lord.

Shelley’s father was a baronet, belonged to the new nobility, not to the hereditary one.

Both of them had classical edu., Byron in Cambridge, Shelley in Oxford.

Both weren’t be able to finish their studes.

Byron was too busy to become famous, and gambling, and drinking. He lived the life of a dandy – a 19th century playboy. Shelley was expelled from Oxford, cos he wrote a pamphlet on the necessity of Atheism.

(Like József Attila’s Tiszta Szívvel).

Later on, a discrepancy could be observed.

Byron lived a very expensive life style, although he was always in difficulties with money. Shelley on, the other hand, was shocking his society with revolutionary enthusiasm.

He was the supporter of the Irish case.

Byron had a lot of love affairs, with men and women as well!

He was good looking, although he had a handicap: one of his legs was shorter and was limping, but he very carefully nourished his body, took sport, boxing, fancing, swimming, etc.

Similarly, Shelley had lots of lovers, and 2 wifes. Henriett, and Mary Shelley. (At the time when she wrote Frankenstein they weren’t yet married).

Shelley preached true love!
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